V:V Vf«-&x(‘ N

7’2”‘3//22/0 =
’//.22 11,2 2:-3

46”'

2 2 V’ &) ?”(oz'/
S ![f(g) }b(g))olf g;('0>olr [f (, o) Z

Z/U((f(%) ﬂ'}/ oly T(@ 0)0#1/2\2’ J(z 2

g - f(l(w) 9(»4))04 f( x+3) -(x- ‘/w{))o[(

zkar

1

;f( X+ 4 - )(74(/)( g)o,a f(X{ﬁx 2) ol = Z"*ﬁ

{

T ). !
( ‘ﬁ'”éﬂ)‘(’g o ’7")‘ 3

| |
& 7/—?@2(%) ’éf%k))oé( 3 \

.’L& 2 Z () ) ‘l
:w’f((-xfz)-(x-axfﬂ oy = -L\ g p—
1 \

\

2

IISZ ¢ Y 3 J 3 2 B
ﬁ[( +u 45T +/¥‘«22"‘"2)-('éu-f’—zm’—f/z.l-/f./f]-

’7;_:~(~7J= :E'//
— - _ —
7o), 2 o “yzx <zl
2|, 2
j& L\ 7 | QJ‘#C)()
LJ:/D'/(( \j; ;/O "bﬂ(}‘)
1=
LY - jo- X
X
, L4 =10x- X oy —a
X Px+2Y =0
A (x-¢)(x-4) =O N N2-6 — 2
qQ :f<f(><) *9(%})@/,( _
O . P
; x° 7" -
:’()(/O’X—’;(—V)O@ :[/0)(-? ﬂ‘—{«&/\(/ Y
’?6’
1 > K 2 j | A_V _
: - = - qLV)-/ofzt/ z
-(/04«5-«49/%5)%/0‘/ 2 A
- -/O*o’z‘lﬁg
——

/-7 (foor - o)t - r[(,o 0 b -
© 2 3 P
,ﬂ’f(loo JoxX - ﬁ—‘)ﬁ 7 ooy~ 205 * % L 4]

b e 24 )&( 7

/) 7)) 3
[ (106106 ¢’ 0ie ). (100.5 -10-4°# “%‘)7

o L

0.4 ¢go> - 147 7¢Y
240.4 =Y. 20 z & /3.

(- 2432) &Zé;r;%—

=1 6

Zv ¢y
c



